ADD-On Keyboard Tray
for ADD-PARAFS / ADD-PARAFSW

ADD-KBTB /ADD-KBTW

INSTRUCTION - MANUAL

**There are two versions of the floor stand
so both set of installation hardware have
been included. One of the sets
(either B&C or D&E) will be Jeft unused.

= [

x4 x4
M4 x12 X1
M5 x12 X
M4 x12
Washer
M5 x12 Washer Screw
Screw
M5 Allen Key

INSTALLATION:

1. Setting up Tray to Floor Stand

**Floor Stand is
Just for illustration
and NOT
INCLUDED

**There are two versions of
the floor stand so both set
of hardware have been
included. One of the sets
will be left unused.

B ©

M5 x12

M5 x12 Washer

OR
© ®

M4 x12
M4 x12 Washer

Screw

1A. Identify the holes on the side of the
' ADD-PARAFS/ADD-PARAFSW floor
‘ stands (not included).

Align to the holes of the vertical support
components of the tray. Use the
provided allen key tool (F) and rotate in
screws (B) with washer (C) as shown.
Do this twice on each side. Rotate until
securely fastened.

There are two versions of the floor
stand so both set of hardware have
been included. If B & C doesn’t work,
try D & E components and use a
screwdriver (not provided). One of the

\\ sets will be left unused. /

9 36 Taaffe Place Brooklyn, NY 11205

-

2A. If not extended, find the
tray extension on the
underneath of the main tray
body. Firmly adjust and fold out
tray extension. Insert metal rod
component into hole as shown
to securely Jock extension piece
in place. When stowing away,
you need to remove rod first,
then fold up by rotating around
the joint.

**Floor Stand is
Just for iflustration
and NOT
INCLUDED

p
B4 support@ctadigital.com \‘ 888-733-4448

@ www.ctadigital.com



